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2D Fit on x-z(y-z) plane
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1. Position shift

- X =x— X

xz plane Fit Result yz plane Fit Result

. - 2.Rotate coordinate (x-z or y-2)
L+ 7" =zcos(8)—x'sin(6)
- x" = zsin(0)+x" cos(H)
- 3. Maximum Likelihood Fit



Scanning Maximum log-likelihood

. Xo parameter limit : x;,,, < x5 < x;,,, + 10
+ 10 mm interval
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Incident angle estimation

* X =Xxy+ a2, ay =tand,,
ey =Yo+ Dbz, by =tan@,,

’AtZ:O:(.XO, Yos O)
Atz=1:(x0+a1, y()+b1, 1)

. [ =(ay, by, 1)
. for the polar angle 6, cos0 = [-Z/| [ |

\/ (a? b12)

ccosO=11/1+a} +b], sing=11/1+(@/b,)’

for the azimuthal angle ¢, sin ¢ =




Position / Direction Estimation
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Generated y beam condition : x,, y, = 0, 8 = 0 (z direction)
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2D Fit
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. Longitudinal shower shape : f(f) = E, b T (r =z/X,)
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Transverse shower shape : f(x) = E,
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PDF(x,t) = f(x) = E, b
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Fix parameters : a(?), f(t), a, b
Simulation Edep

2D Shower PDF




